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LANGUE VIVANTE I              Épreuve du 1er groupe 

 
Answer Key 

 
I. Comprehension: 08 marks 

A- Table completion                                                                          (0,25  6 = 01,5 marks) 

1- Robbery       2-  Rape       3- Zimbabwe       4- Nigeria        5- Malawi       6- Kenya. 

(Order of appearance doesn't apply to 3, 4, 5 and 6) 

B- Cloze passage                                                                                   (0,5  4 = 02 marks) 

7-  era / community / societies         8- compensation       9- executions     10- trials. 
   
C- Paragraph matching                                                                         (0,5  4 = 02 marks) 

11-   parag.5                12- parag.3                13- parag.1                14- parag.2 
 
D- References                                                                                           (0.5  2 = 01 mark) 

15- The fact that death penalty is declining worldwide. (PS: Not the surge in executions) 
16- Capital trials (executions may be accepted) 
 
E- Equivalent situation                                                                                 (1 1 = 01 mark) 

17- "The question confronting political leaders...  cost and the risk of error." 
 
F- Finding a synonym                                                                                            (0,5 mark) 

18 – dictatorships. 
 

II. Linguistic and Communicative Competence: 06 marks 

 

G- Passage completion                                                                          (0,5  2 =  01 mark) 

19- against       20- across. 
  
H- Dialogue completion                                                                      (0,5  5 = 02,5 marks) 

21- Any coherent and correct answer.      22- Any and correct coherent answer.     23- been 
denied.      24 the safest   25- don’t  they? 
 
I- Gap filling.                                                                                           (0,5  2 = 01 mark) 

26- However    27- Unlike. 
 
J- Word derivation                                                                              (0,5  3 = 01,5 marks)   

28- imprisonment.      29- (re)insertion.         30- profitable. 
 
 

III. Writing: 06 marks 

N.B: For the letter, consider format. 
- Understanding                                                                                                         (01 mark) 
- Originality of ideas                                                                                                   (01 mark) 
- Accuracy                                                                                                                  (01 mark) 
- Coherence                                                                                                               (01 mark) 
- Relevance                                                                                                                (01 mark) 
- Consistency                                                                                                             (01 mark) 


